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Let e €[0,0) denote the amount of education. There are two types of potential workers:
those with productivity 6, and those with productivity 6,,, with 6, > 6, > 0. Each potential
worker knows what her productivity is, while the potential employer does not. For each type

i e{H, L} the cost of acquiring e units of education is ed,. The fraction of type H in the

population is 1, €(0,1).

(a) Is there a signaling equilibrium where the employer offers a salary w =6, to those who choose
education level e_and salary w=6,, to those who choose education level e, with e_#¢, and
refuses to hire anybody with education level e ¢{e_,e_,}? (Recall that at a signaling equilibrium
each worker is paid a wage equal to her actual productivity.) If there is a signaling equilibrium,
describe it. If not, explain why not.

(b) (b.1) Suppose that the employer offers the following wage schedule (AP means “average

- AP ife=e _ . . .
productivity”): {0 " . - Find necessary and sufficient conditions for a pooling
. ife=ze

equilibrium, that is, an equilibrium where both types make the same education choice (thus it
is not a signaling equilibrium, since workers are not paid a salary equal to their productivity).

(b.2) Find all the pooling equilibria when u,, =%, 6, =1and 6, =6.

(c) (c.1) Suppose that the employer offers the following wage schedule (where 0 <e” <€) :

6, ife<e
AP if e <e<@é. Find necessary and sufficient conditions for a pooling equilibrium.
6, ife>é

(c.2) Find a pooling equilibrium when x4, =%, 6, =1and 6, =6.
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